000001 (00 180000) No.2@isoon)

[1]Set0O0DOD,A={0,1}000. Set00 Set00 00 FII
F(X) = Homget(Homget (X, A), A)
oooo. FObDO0ODOO0

GDDDDDDD,nDDDDDDDDD,DDDD.

H{H<GOOOOO [G: H| <n} <oo.

DD suuuoboooggoog.

(4] CO00000 ¢:Clz,y] — C[] O p(z) =12, oy) =t30000. 00 Kerp O
goo.

DDDDDDDDDDDDDDDD Dedekind DO ODOOOOO

(6] K OODODOOOf(X),¢(X)ekX]OOO, f(X)0D000d>1000. f(h(X)) =
¢(X)0000 rX)ekX)]0OOdOOOOOOO0OO0O.

QDDDDDDDD PpiDODOOODOOOO.

8] F, 00 nOO0OOOO Fylzy,...,2,) 00000 Noether 0000000000
000

(9] k=Q(t), f(X)=X*—tX"+1ck[X]0O0D0. k00 f(X)0000000 KO
00000000 [K: 40000,

[10]0 KO f(X) = X*+X? -4X +10QU00000000000, Galois O
Gal(K/Q)0 00O,

11|n0D000,k0 QUOODOODDOODODDDOO, kD Galois 00 K O Gal(K/k)
0O»,0000 6,000000000000000000D00OA0.

[12]QD 20000 v2,v2, v2,--- 00000000000 QOO Galois 000
KODOOOO, Galois 0 Gal(K/Q)ODO0ODO.

[13] 0000, K=Q(tan(2r/n)) 00000, 0000 [K:Q OOODO.
(4] 000 2" +2%+25+2* +22+10 F, 0OOOO0O0OOO0OOOOO.

[I5]RO0DDOCOOOOOOOOOOOOOOO,



